UGC NET 2021 Nepali

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifds] @ meR U gosll & 3= difsme @

forgoiferRaa vl fdpil Rrafdencrn 3 31 - 31l ferll 3 (T-u) dRRA reAa™] oI YfeIord scol 3R 3EATUd] dal eATTUPI3i @ ourd
@I YFdd ol 3 faeafdencry i et sieamaml i e 1600 3 wrvil 3 1 o1 sifws! @ R R Yol 1-5 ab D IR S &

31eMuehl oI faeRIar d§cot ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerer areemuast B gferoradr (% )sremuds itz sre=mftrpsit bt gfererdar
A
B
o
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

ferer=r-C 3 sremaed] I et A, fawR-D siiz faeRr-A 3 aAfdafera su A sreanftopisii & aget e @1 gferera 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers




Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifdst @ 3R U gesll @ 3a= difsme @

forrarferRaa 1rvfl fp1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uw) PRIz srearuwm] @1 gferord sl 3R [eATUD] qell 3reATfiIsi & 3rofurd
Dl yqd @il 8 faeafienert 3 qe sreamael & i 1600 & ARl # 621 3R sifds! @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt srezmaepl &b s SiiR farerI-A aen faerRr-B 3 wifdafera su A sreamuen] 6t iz o &4 fopdon siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]

1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 U o1 sifost & smem uz gosil @ 3ar i :

forarferRaa rvfl fp1 feraferenert 3 sremer - 3rcmT eIl 3 (T-uws) PRIz srearuwm] @1 gfererd dcel 3R [eATUD] del 3reATfdIsii & 3ro[urd
Dl yqd @il 8 faeafdener 3 @et el &l in 1600 & ARl 3 621 3R Sifps] @ MR R Yool 1-5 dd D IR S :



31EATUD] DI fARIaR dear :

frerr sreemaast Y yfreraar (% )sieamu st sieenfiriaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerRr-F 3 sreanftrastsii b Jizean siik fawRr-C 3 sieamaat bl Jizen @ dka fovdetr siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft # fSu 51U sifws] @ smemR uz gesll @ 3a= difsme @

foreatferRaa 1rufl et feraferenert 3 sremer - sremT foreril 3 (T-uw) PRia sreamu®! @1 gfererd dcel 3R s[eATUD] eIl eATfieIsii & ofurd
@l yFgd ol 3 feeafdencrn 3 @et sieamaml &f e 1600 3 Arvil 3 R oR) sifds! @ R R Yool 1-5 b D IR S &

31EATUD] DI fARIaR dear :

fRrerr reemuast 1 yfereraan (% )sieama st sieenfRriaii Bt g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?



forafiencrr 3 sreamaamt &t aer Iz Rl 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifds] @ smeR U gesll @ 3az difsme @

forrarferRaa 1rufl fp=1l feraferenert 3 srerer - 3rcrT eIl 3 (T-uw) PRixa srearuwm] @1 gfererd s 3R [eATUD] el 3reATfieIsii & sro[urd
@l yqd @il 8 faeafdener 3 @et sreamael & i 1600 & ARl & 621 3R sifos! @ MR R Yool 1-5 b D IR S :

31eAUD] DI fASRIaR dear :
Rrerr preamuast &t yfererar (% )siearaw aiiz sl S gt
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 srenftrepisii &bl Fizen @ gfererd o siopurd fRrerr-D 3 sreamaosl &t e o1 Reaen 3 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4. 5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]



Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERTUD HRI UIS D Yl & Sikrel Ydfer & ufaderoefierar sterar sia=rar oot fop21 su 3 Siren strar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fRider urgeicpa [Option ID = 14521]

Instructional variety/aifdiferes fafderar [Option ID = 14522]

Comprehension/zmtst [Option ID = 14523]

Procedural knowledge/gfégziicares siret [Option ID = 14524]

A WN -

Correct Answer :-

e Thinking curriculum/Rider urgerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

R IRDR D 181 HGIeRI gRI Fanferd wa.siLal. 2. (MOOCs) ygrot @20l 3q =i (SWAYAM) sia & 1= ol dottol (RBsimsfoier) @ fere
fopaer agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]

1. 2 Quadrants/2 agsfa [Option ID = 14525]

2. 4 Quadrants/4 aqgefe [Option ID = 14526]

3. 6 Quadrants/6 aqgefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il Jf Dol fdu sre 3 ¢
Dl - | : R Ef sraren @ Fu A 4 ad 6l 39 D arerd I fpmefia Fafar & Wil acd U Fere o= 3id 3

@l - |l : Jaensii & yfd Aafe vw dicid cRIdaR €161 ofdl SdI, dl 3cYRUI TR DaHsIR Bldl 3 3R 3fod 3 sdell BR Sidr 3 &b el I Yol:
Ieyfea ordl fopan s Arar 3R a6 guizu A fagsy 8 smar 3

SURITb Dol D 3Iclid H, ofld U s1w iyl 3 A Jt IR BI TwRIel HIferw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/@perm | 3iiz |l Sieit 2@t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sleta & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/werwr | 3@t 8, fbog @eret |l siera & [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/@emt | swer 8, fboq @eret |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iiz | 2leif 38t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

Rxet -1 Rxeht -l

(aif¥eea @1 segfor el deq) (Ffer gor)

A. Aot |, siafoifda gfer
B. 3rIdet Il. orifaftrs Fgfa




C. Tofiler wioret (i Roc) Ill. goerep Fggfer

D. sircatopsia IV. nBre Fgfer
il feu o1u faasedl 3 A A8 3R gforo :

[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll,C-1,D- Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1I,C-1V, D - Ill [Option ID = 14535]
A-1,B -1V, C-1ll, D - [Option ID = 14536]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIGERAIET 3893l @ fé1e IHSATGIcAD &I 3 ol IL9AT I HdHIferee oo strer 3 :

A. Jcaiwor

B. e forerizur e

C. 3ast

D. remefar

E. sior

off fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/aaa A, B, C

[Option ID = 14537]

2. B, Cand D only/@ae B, C, D
[Option ID = 14538]

3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A BandConly/@ac A, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

onter @ SIRIGl SId &3 MATRAHD i1 difeads zffedlvil A g 3 3z YeoiRr ael uz earer dfoga wd 3 dal A forsoifeiRaa 3 A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/am3tars [Option ID = 14541]

2. Ethnomethodology/gsuferfdrsirer [Option ID = 14542]

3. Constructionism/2izdaeicamdar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-

e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:



fop2t uf¥acen & Jder 3 BRI B PR oNer 3 Riftoer UGeRN, 31¢RIeT ARl FeureiiRI Siiz SRRl frcRIRil & JiRilsiel Bt wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/fggster [Option ID = 14545]

Content analysis/fawer Jmsf 3wt [Option ID = 14546]
Corpus/@mrda [Option ID = 14547]

Mediation/siezrzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/feprstior [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasyur & dogp uglt @ fere wedl @ Adiaw &I usare @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI APIbd formrct

B. rside @ ka1 &l svren a3

C. ore @1 Arrwd (T) gra o3

D. gA® oIcid @ AR1wd @ (T) D ol A Renfra o3

il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

1
2. ,
3.

4. B,C,

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary e .

a test which is given to a group of respondents
approach
B.
Consensus |Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

et -1 et -1l
A. arelRes ||, sicIe1-31cTe1 AGT &I I3 @) v ure A fashha s sirar 3
efcmroT RRY IacIansil & s ot & sirar 3
B. srdaara
Il. acet taral @l faolR1a fosan S
dcel e uR SIIeI 3




C. 3¢ freaduvr |l 3mRIEE siiR sreRId) et 91ftp Afda o sicl &l gJufiasur
eftcmIur (bI IGTHUAT D IMIEMR UR TRIfold

D. it IV. ferae 3 onfdrer w0t D fere gofl 31 ISt DI FeAidol DI D
CatreTr fere forutirest o1 toter

il 3w o1 el 3 A At I gfom ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-lILB-1,C-1,D-IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlbB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofi <1 eror Ru sre 3 :

werd - | : fgamenst Fizean yprredt o1 smens 2 3

@l - |l : fgsmemst eI, gorIc Siis @ Aol &l 3ldr & RIarT saa o5 former bl Az &
JURITP DYoll B 3l H, ofll [Su s1u fadmeul 3 A W8 3= @1 T=I6l HifSte ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/@emwt | aiiz |l Sleil A 8 [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@erwt | 8ii2 |l Gleil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq weret || sRicr 8 [Option ID = 14559]
4. Statement | is false but Statement |l is true/wesel | sRIcI 8 , fboq el |l 3=r & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1 Siail 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

ToRIdl DI AHIET6I Dol D e v e D sfiar 31ferp A sifere seiluanf¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 2iuur a1 [Option ID = 14561]

. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
. Risk communication/sif3asr 2iquur a1 [Option ID = 14563]

. Personal communication/dfepe 2iuur a1 [Option ID = 14564]

A wWw N -

Correct Answer :-
e Vertical communication/3eafer 2iuur @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:



forgatferRaa 3 A fopadbl usdrel aiftrs AYWUT BI9rT & HU 3 DI Sl 3

A. M@MEIDB HIHT BT AT

B. smoyfgar

C. bIsd® @ oicdl DI Yraeist

D. =i &l 9 ot

E. FdioRIca® 91t &1 GRIBT

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, B and C only/dact A, B 3iiz C [Option ID = 14565]
. B, Cand D only/daea B, C siiz D [Option ID = 14566]
. C, D andE only/a3ae C, D siiz E [Option ID = 14567]
. B, Cand E only/aac B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

@erel - | | ADID UIdI, 3D HIUT DT MER BXcdl 3

el - |l : Sr-aifRies JAd>dl & sraet e sref Jxar &
SWRIFP Pl @ 3Mrelld i, ofld 3w s1e Ripedl 3 A A8l Iar @I M6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14569]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14570]
Statement | is true but Statement Il is false/erme1 | A 8 , o @eret |l sRir & [Option ID = 14571]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14572]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/epr | 3l |l Gleil 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AT &t YR B A8l G b usare o3 ©

A. 333 e

B. Fisirera 9jac

C. sru9ru gjacn

D. wwa ¥is gzaent

oA Ry s1e Riecdl # A & a2 goi

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

Correct Answer :-
e A, B, C, D [Option ID = 14573]



15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

(3ot 9)fdriT) (faroramd)

A. aiffdes |. Iiguor Faof

B. Fuof farsier Il. sl & dta Fguor
C. srelgza Ill. Fid>di &I e

D. Fiofers IV. sreif 2 ddfeEa

il fou s1e frpeul 3 ¥ A8 IR gforw ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - lll [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1Il,C-1l, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIayd i 3HICH Dlol-AT 3D BPI ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urt Y @I a1 31611 3 3R Z & uri X oI @I 3ell 3 A il & ur Alafera su A 613 Z, Y sk X @ urd a@gier: fpaol 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A W N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

TP BICI A v AP @l [$¥rd gu @iddr of @al, ds A arar &l 9¢l @I 11 3 3 Alep A oldar oI g fyear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sicfisir [Option ID = 14589]

Cousin/adRr1 a8 (pfeter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

AW N =

Correct Answer :-
e Nephew/sicftsr [Option ID = 14589]



19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@l - | : b Bieic # el Slar a1 &l frere &I 33, de Ht g A 5° el 96 Sl 3

el - | : afd fiere sl @t &t Jgzat v & Rrerfer 3 3mE) agont 9s wcdl 3 Al el Iyt 64 Bioic @G v, g A ficith
SWRITP Dol D 3MIelld , ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 31 & [Option ID = 14593]

2. Both Statement | and Statement Il are false/a@emt | 3ii2 |l Gleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@ermer | 3 @ , fboq et |l spRier & [Option ID = 14595]
4. Statement | is false but Statement |l is true/mepol | srRI=I € , fboq el || A= & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/epr | aiz |l Gleil 21 & [Option ID = 14593]

20) Consider the following statements:

A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is 18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:

frafeRad siftmy | faar &1

A. U@ gR H 1 718 46% DI ¢, dF aR H &1 715 10%, 20% 3R 25% Fel & s 8

B. U HIFTSd @l 20% @1 g1 W 14500 % H &4l [l &, Hislgd &l AFld Jod 18225 % &
D. e 81, g Tea &1 L8 e 28% ©

el o e faeeal & 9 wEl I T :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/dsaet A aiiz B [Option ID = 14597]

2. Band C only/daer B siiz C [Option ID = 14598]

3. Aand C only/@aet A siiz C [Option ID = 14599]

4. Aonly/dact A [Option ID = 14600]

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgatferiRaa 3 A Pdlol-AT AD S 3 Sl aftb @ faeardl siiz ufxiFeferl @ dia JAder oI =Ib ddar

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/amefdics &s daqem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smefdica vs aifdoa (uRRerfesio) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/simejdicar s ssaiifeRial (arstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smefdics esd¥gfSeret (Yfiipr) [Option ID = 14604]

A w N -

Correct Answer :-
e Argumentum and Baculum (force)/smjdicar 6s daetat (91fep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can



be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true

D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRRielt oot i Al "o e Aqacrar oifl 3 srica 3, i forFerfeRaa 3 2 fba1 @ o1 A8} Alen ST ADAr &
A. "9t G Aqern ' 3RTea &

B. "©® Wc Adcrdr & AcA 8

C. "l A6 FAcIa " Aca 3

D. "I A Hacrar oidl &' Aea &

ofia 3w a1 el 3 A A& a2 ol :

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. Aand D only/@aet A siiz D [Option ID = 14605]
. A and B only/dact A siiz B [Option ID = 14606]

. B and C only/dact B siiz C [Option ID = 14607]
. Cand D only/d@aet C siiz D [Option ID = 14608]

A w N =

Correct Answer :-
® Aand D only/aqet A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forraiferRaa wler-A1 e AdaraRT @ PR AR YBR B Jdl U A YIgd okl 3 :
it carardt sircar-farardt 8 3

sirea-frar Af3a o of cafes enffas ordl siar

sfere oFf oft enfifes cafep smurdt ol drar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - I

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]
Correct Answer :-
o AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

St sfogal &1 el A ucrelf @ aR 3 SRl i ol & sfogal o sif¥dea genfora fown sitar & forsot 31 3 v Gt ¢
[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]



Anumana Pramana/ sigj#tel ysmt g1 [Option ID = 14613]
Sabda pramana/erss ygmor grer [Option ID = 14614]
Arthapatti Pramana/sferfufer grr [Option ID = 14615]
Upamana Pramana/3usirer ggmor gt [Option ID = 14616]

A W N -

Correct Answer :-
® Anumana Pramana/sfojerer gamur g1 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel D P31 Fasu DI 316 il Dl ASRIAT A Yrd ol s Sirar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/ygigr [Option ID = 14617]

2. Inference/smmet [Option ID = 14618]

3. Word-testimony/grsg ggmr [Option ID = 14619]

4. Comparison/3usiret [Option ID = 14620]

Correct Answer :-
e Perception/yeiet [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTcA3R o der i v gifeitre smfter Rrea &t fidruarsit 3 frafiRaa enfirer A 3

A. R $caBd - GRITDI @ BRI D S AYWT i srggafer Sar 3

B. 3318t gderel - YRIeT 3 38 Qiojmel 3R siivst @ 1w sidf¥es Jeist (312 © war) ot 3irdco Siiz arat At 3arsAT WR 3iist &t Yol gt
q $iSRUT

C. Jarerol FHsIcTon - ufefRr 3arsAl (so1ye a 3n3eyc 3arsA) I forifeld wen a ufdir Sarsil @ fére gRITPT sgfR1ell ®I HHIcTol

D. scvole uga - $eolc U= AAi D RRI Aud ygrel wel

il fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/dact B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet




Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et | e -l
(fera=zoT) (Suged awmolildl us)
A. Siagdic Jollol @ ferg ciods ferell PR acs arss |
dd UT ST SIQ -
B.Rﬁtm@@'@ﬁm@'éﬁtﬁmﬁiﬁmam"- PP
(I IR ol dIcl BRICT
C. sceolc WR giifdic wd widie dol arct FRISIST ®I
Ill. war.él.uaruet.
D. &1 AfedRR Sl YRIBIPD! Bl $colc uR Sfarygic V. < ke

Bz g1 JAIerGil Dl YaRIA/S¥ ol D A Folidl 31

il fou a1e fypeul 3 A A IR gfom :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-1IL,B-1V,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1IV,C-1l,D-1ll

[Option ID = 14626]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-1ll,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

FN¥ST BARKE @ Ted @ i Holifpda R Rasd @ waf¥ea difse:

A. dtdtd

B. f1.3L. - 3o

C.s13

il f3u a1 fraseul 9 2 W& 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A w N =

Correct Answer :-
e C, B, A[Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

oflar S1 averet feu s1e 3 ¢



@erel - | @ v sifaefest Rivear aftdzcar @l forafoqa @ear 3, 3iik AR 3fik YRR AR DI Mol BT &
@l - |l : v simfesr Rizcar $edic ValA Yglol @l &

SWRIFP Pcll D 3MIelld #, ofld 3w 31w el 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 3er & [Option ID = 14633]

Both Statement | and Statement Il are false/@sermr | 3iiz || Sraif sRicr & [Option ID = 14634]
Statement | is true but Statement Il is false/@emel | a1 @ , fpoq @eret |l sRIr & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRicI & , fboqg et || A= & [Option ID = 14636]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?
forgatifepa 31 A Dol WY YIS, (et Yok $ecxwA) aced & Sl ag famedl 3 A v @I golol A YT o= sirar

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
Scroll bar/¥®fet @z [Option ID = 14637]

Push button/ger acat [Option ID = 14638]

Progress bar/q@)a1 arz [Option ID = 14639]

Radio button/3f:i scat [Option ID = 14640]

A W N -

Correct Answer :-
® Scroll bar/¥®fet @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaa 3 3 Dlol-AT ABT URT Jorell fAfpUT Ysiiae! @5 BRI o1&l aXr & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demsiian [Option ID = 14642]

3. Ocular damage/aiq sifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/carorcft ofter [Option ID = 14641]

32) Match List | with List Il

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
STl YgHl BT oot 31801 / RN
A. ABCIGIP PRD |. argsiidt sfiamg cr1 feafea o srufdre

B.sﬂmmmmﬁ".m, R errqail @ AP

Brafdrse
;_;ﬁsﬁa% 1. Sfiaroy, yshtary (Qdisien) ik scf
D. stet 3 getorofter IV. Stet 3 gerorofier arsee 3R Bizwe ddrd scnfe

ST fored RARIST bt arfer g e 3



Iaﬂﬁi%t!miﬁaa—cﬁ ﬁﬁaﬁmgﬂ%{q:

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1

[Option ID = 14645]
2. A-IL,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-UL,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-1l,D-1I

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il S werel fdu sre 3 ¢

Dol - | : afd:3a &bt spiforn fuarpar # gfy ssdiaur o1 ufyvma 3

@l - || : fRensdiavr 3 Siary oI geI B2 olis¢e Pl olisglslol 311 3 JUaR[ @ &
SWRITP Pl @ 3MIelld 3, ofld 3w s1u Rl 3 A A8l IR I a6t HifSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/erer | 3iiz || Sloil 31t & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l Giali sieia & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emr | 31t 8, fpoq et |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | sci @ , fpog et |l 2@t & [Option ID = 14652]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz | cleif 2t & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

weTdol U TS g 3 fSrImT 3uriieT 3ruafdrse Sier A aRIr 9Ly @3l 3 v sirar 3:
A. sftfa forcifda o1R1 ucrell @I scrol 3

B. 31ig Sifadbkr o1 Blas @ fore

C. e itz ot (3fis1) @t et A

D. St @ srzeril wolear I serol 3

oA R s1e Riescdl # A & a2 o ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, B and C only/dact A, B siiz C [Option ID = 14653]
2. B, Cand D only/@aa B, C siiz D [Option ID = 14654]
3. A, Band D only/a@aet A, B siiz D [Option ID = 14655]
4. A, B, Cand D/A, B, C alix D [Option ID = 14656]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 14653]

35) Match List | with List Il




List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl, Il. Halons
C. CoF4Cly Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

ret -1 et -l
sirsilel gifsa ucref Sie

A. C3HF7 I. HCFC
B. C2FH;3Cl2 Il. 3clica
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

i) feu oru famedl 3 A A8 3R gforu :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B -1, C-1I, D - IV [Option ID = 14657]
2. A-1l,B-1,C-1V, D - Il [Option ID = 14658]
3. A-1I,B-1V, C-1ll, D - | [Option ID = 14659]
4. A-1V,B-1l,C-1,D - Il [Option ID = 14660]

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Soa 118 Jzereil & wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/dfer [Option ID = 14662]

3. USA/guae [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-
e |India/ema [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgsifeiRaa Y So1d> 3106l A BITHATGRIR afded Hifsre

A. BIcter sirRIeT

B. JscR meI

C. Frar wrlge (Rrorcar)

D. wirste Alston (Cetror)

E. gs B¥a

ofid fou a1 el 3 2 A8t ST gt ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

B, D [Option ID = 14665]
A, D [Option ID = 14666]
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

A W N -

Correct Answer :-
e C,E, A B, D[Option ID = 14665]



38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forrarferRaa & A1 @l A Aifafere forpr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>qet A siiz B [Option ID = 14669]
C and D only/@aet C iz D [Option ID = 14670]
A and C only/a@act A siiz C [Option ID = 14671]
D and E only/@aet D iz E [Option ID = 14672]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft I Ferruen o Zoa & e g5 3 ?

A. Zor 3 Ica fren 3 sigpRienel 3R stayarieil @ a@rar Sl

B. fareafdemcril f318ir @ eIl ®I WoarIal, forerfzur siiz Sxasimar

C. Tor 3 Ica fren as uga ! dGTel

D. frafdencril siiz Bicisil @ Mocloll BT [T woll

E. 3@ qen Isa IRERI SR Iaa fOren siffener el & dia dstayul ot & %y 3 Aar Ygrel a6l
ofid fou a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/d@act A, C 3iiz E [Option ID = 14673]
A, B and C only/@ac A, B siiz C [Option ID = 14674]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 14675]
B, D and E only/d>aet B, D siiz E [Option ID = 14676]

A w N =

Correct Answer :-
e A, CandE only/aact A, C siiz E [Option ID = 14673]

40) Match List | with List I

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [Il. Promotes research in History

C. ICPR [lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:




et -l oot 3 -1l A Fgafera Hifsie :

xet -1 ot -l

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR 1. sfererRa 3 siofRienet I aGlol

C. ICPR I, aapotichl {3181 <l SJUTaTr DI SGIaT Soll
D. ICSSR IV. srnfSie forsimell 3 siofRiens o aGiell

il f3u s1e frseul 3 ¥ A IR o ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D -1V [Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 s1Q srerior @) ue 3R ofid feu s1w yesll B 3az S ¢

ARTSIP afdpR ud a3 - AR s@emrn 3 Sit Jregul Sor J fafeer wwul 3 siRdaraare snfffe, ARnkee, IEEfae ik Aroiie - Ao
ofirl & fafdeer uscrsil @1 Adate B! G RV T $AD Aca D 1T W gU; AT 9165, Iol AH! Sif fefap, ATMIPE iz AFDmitie wu A
afdvapa A3El ur &A1 DRA D 3 3l AT & A e AP WU A @Bl cllsll Bl Jorchl Rrerfer A ars? forpIcal @I BRI B! ard dg iR
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The concept of social exclusion is multidimensional because of:

ATHAISID SfECDR Dl FTEMRUI b BRUI A Jg3rRIeEd 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/fafeer el v dfga [Option ID = 14681]

variations in deprivations/ddon @ ¥a%u 3 fdeerar [Option ID = 14682]

the prevalent notion about social outsiders/menfSics =u 3 @g3t clsll @ ar 3 yafera sraemzon [Option ID = 14683]
social statuses across nations/2igui Ser 3 Jmnfsre Refer [Option ID = 14684]
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Correct Answer :-
e multiple groups to focus on/fafeer wel w dfga [Option ID = 14681]



2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The new reflection on social exclusion has emerged from

ARNRIE afdtpR UR oid - Ridel waf A 3cuod g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitesfias2ur yfdgenr [Option ID = 14685]

The arrival of new scholarship in sociology/3ston ¥ ol uif$eI (IpIcRim) @1 3mepiel [Option ID = 14686]
The technological impact on societies/mrsil w2 awefid gema [Option ID = 14687]

The changes in the nature of social inclusion/mfSip e @ Faeu # decra [Option ID = 14688]
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Correct Answer :-
e The industrialisation process in Europe/zRlu 3 sieisfiasur gfepzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The post-industrial society and economic restructuring have contributed for
IR - 3iiEnre A iR 3nfies Yorien o fipard fore Apreret & 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3JIsPIR 38 w yoifdar [Option ID = 14689]

Strategies aimed at social integration/3mimfSie wdbiaur & aférd wishferif [Option ID = 14690]
Fragmentation of welfare state/@camwert 3= @I ffaema [Option ID = 14691]

Social disintegration into new deprived groups/sra dferd 9gl 3 AEnfe fdravser [Option ID = 14692]

A W N -

Correct Answer :-
® The reconsideration of employment issue/3IspIR #g w yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The scholarship on social exclusion has gone beyond
ARRID df3cPR UifseI (FPIcROMT) $3AD U2 ST Ibl 3 &

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]



The reach of governments/3r®RI &t uga [Option ID = 14693]

The conventional thinking/uusera 2ira [Option ID = 14694]

The normal issues of deprivation/ddon @ et #g [Option ID = 14695]
Common perspectives of inclusion/w@mdsret & mwie ufsggn [Option ID = 14696]

A WN -

Correct Answer :-
® The reach of governments/ar®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The concept of social exclusion is now
ARG ai3sbrR & ST SIaenon 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdRI cisll W D farr (fter) [Option ID = 14697]

2. An issue of developmental capability/fd@ricaes 2meret o1 gz [Option ID = 14698]

3. A commodity for export from the North to the South/3m= 3 gfér &t @w foria @ e azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2pil sitemt 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/?RIdlI cilell w2 ®fga fawrr (eftsr) [Option ID = 14697]
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aréso1?[Question ID = 4966][Question Description = S2_qSNz_PG_NEP_QO01]

e [Option ID = 19861]

faefadier [Option 1D = 19862]

JAearafddr [Option ID = 19863]

Risemfiisar [Option 1D = 19864]
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Correct Answer :-
® JrieaRdl [Option ID = 19861]
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[Question ID = 4967][Question Description = S2_qSNz_PG_NEP_Q02]
1. A-lll, B- IV, C- I, D- | [Option ID = 19865]
2. A-1V, B- 1, C- I, D- Il [Option ID = 19866]
3. A-1lI, B-1ll, C- IV, D- | [Option ID = 19867]
4. A-lll, B- 1V, C- I, D- Il [Option ID = 19868]

Correct Answer :-

e A-lIl, B- IV, C- Il, D- | [Option ID = 19865]

3) ol ‘Quftus’ olicaeld ‘slicdHoST SUGIRT gol ABI3al b a1 Hfdraap @l olurell fibcar! foifda Rayresedl’ #ool Hordel del AAICIIDA
RITb SRPBT Tol?

[Question ID = 4968][Question Description = S2_qSNz_PG_NEP_Q03]
1. Demayze 3urarr [Option ID = 19869]

2. aryea feurdt [Option ID = 19870]

3. ImemEDI gerer [Option 1D = 19871]

4. @R yurel [Option ID = 19872]

Correct Answer :-
® Py ureArt [Option ID = 19869]

4) onerprian ‘Asupl wideram’ o aI?7[Question ID = 4969][Question Description = S2_qSNz_PG_NEP_Q04]
8I] AdeUH SifeT ollerpdicns dIc S¥asal Asplt [Option ID = 19873]

9llerepdl HoRIS! AeIIg® Ag9e ol ABRID [Option ID = 19874]

3reRrodr fwRE 3 ufor user Assetlast U 11 ol srgRicerar [Option ID = 19875]

@ 2 ellerpaicl AP Aspet s 3 caiep [Option ID = 19876]
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Correct Answer :-
® g AdeIUET SiicT oNerbalets areY Jaar3or Aseiett [Option ID = 19873]
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A. foRcidieT l. 2¢9uv
B. Ricirsm) sfarcmraarg|l. 2329
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[Question ID = 4970][Question Description = S2_qSNz_PG_NEP_QO05]
1. A-1ll, B-1,C- IV, D- 1l

[Option ID = 19877]
2. A-1l, B-1ll, C- 1, D- IV

[Option ID = 19878]
3. A1V, B- 1, C- III, D- II

[Option ID = 19879]
4. A-1Il, B- IV, C-1I, D- |

[Option ID = 19880]

Correct Answer :-
e A-Ill,B-1,C-1v,D-1l

[Option ID = 19877]
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[Question ID = 4971][Question Description = S2_qSNz_PG_NEP_QO06]
1. B,C,D, E
[Option ID = 19881]
2. A,B, C
[Option ID = 19882]
3. D,E

[Option ID = 19883]
4. A, B, E,F

[Option ID = 19884]

Correct Answer :-
e B,C,D, E
[Option ID = 19881]
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[Question ID = 4972][Question Description = S2_qSNz_PG_NEP_QO07]
. sirRfarg [Option ID = 19885]

. frrsarfrarg [Option ID = 19886]

. yeftewars [Option ID = 19887]

areraars [Option ID = 19888]
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Correct Answer :-
e giarg [Option ID = 19885]
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E. cirerep) farootar of 312 8

F. srurcfien feprmuce! yeotrel 2 ArereIel siofdreld! RIs-3raRIad forerzur o168

et f3suat faacuseare A8 3= RI6T STeleRY

[Question ID = 4973][Question Description = S2_qSNz_PG_NEP_QO08]
1. A, B, C

[Option ID = 19889]
2. B,C,D, E

[Option ID = 19890]
3. CEF

[Option ID = 19891]
4. A,C,D, F

[Option ID = 19892]

Correct Answer :-
e A B, C
[Option ID = 19889]

9) ucraciior ace @t gol?[Question ID = 4974][Question Description = S2_qSNz_PG_NEP_Q09]
. ofid, fadiwas, yaas [Option ID = 19893]
. 3w, ofid, st [Option ID = 19894]
. fadmur, sieus, fppmus [Option ID = 19895]
. ydugs, #eAUs, UG

[Option ID = 19896]

AW N =

Correct Answer :-
® offd, fqdmum, g [Option ID = 19893]

10) u©Ser aIaRI DfacRIF oIS Mforar! ol Jdse] Hool A BIAI oG] JUdIC ATEl urses?[Question ID = 4975][Question
Description = S2_qSNz_PG_NEP_Q10]

. @dug [Option ID = 19897]

. wafug [Option ID = 19898]

fdtaor [Option ID = 19899]

. fgpmue [Option ID = 19900]

AN w N -



Correct Answer :-
& adug [Option ID = 19897]
11) areREn sIPMUGE! Siforart IgIs IR stol awa aot a1?[Question ID = 4976][Question Description = S2_qSNz_PG_NEP_Q11]
. fadwor [Option ID = 19901]
. g [Option ID = 19902]
. 3gsear [Option ID = 19903]
. gelerer [Option 1D = 19904]

A W N -

Correct Answer :-

e fgrur [Option ID = 19901]

12) RoFUGDI BT dl DI WU KRifad slol Rp=M01D sifdrcigvrens @ sifolos?[Question ID = 4977][Question Description =
S2_qSNz_PG_NEP_Q12]

1. <iEirs [Option ID = 19907]

2. gtz [Option ID = 19908]

3. s [Option ID = 19905]

4. fadwe [Option ID = 19906]

Correct Answer :-
e fadrr [Option ID = 19905]
13) u3er araRao! sredfére srpt ararrap! sref anfase gor <l gfaer ararpIs! Fenfid gol srelbra st @ sufses?[Question ID = 4978]
[Question Description = S2_qSNz_PG_NEP_Q13]
. areneferr [Option D = 19909]
. BiRarekr [Option ID = 19910]
. R [Option ID = 19911]
. sz [Option ID = 19912]

A WN =

Correct Answer :-
o syarefar [Option ID = 19909]

14) SIRIRE AFACHGRIR 966 RBSID 2 HA T 8l Hol RBSIGIINE D Bl7

[Question ID = 4979][Question Description = S2_qSNz_PG_NEP_Q14]
1. orsg 2 arefopl 2RMer [Option ID = 19913]

2. 9rec 3 3efol quifcaaar [Option ID = 19914]

3. yfesterce 3cgg 2ReR fagdm [Option ID = 19915]

4. of cafpeadt sgicet [Option ID = 19916]

Correct Answer :-
® 9reg 2 refat JRMer [Option ID = 19913]

15) siurenl BrovigRI dforel diciyae ‘fifSter’ orecml et 3rg<Ysil 37U agat a1?[Question ID = 4980][Question Description =
S2_qSNz_PG_NEP_Q15]
1. Rafds [Option ID = 19917]
2. fefdrs [Option ID = 19918]
3. Rfdera [Option ID = 19919]
4. Rfeewr [Option ID = 19920]

Correct Answer :-
e ftafss [Option ID = 19917]

16) Ao wuen eafsr BRI YaRIGHITD! ol HBT Jccll WDI §od?

[Question ID = 4981][Question Description = S2_qSNz_PG_NEP_Q16]
ofief a1 [Option ID = 19921]

Feer srmo1 [Option ID = 19922]

fwor smr [Option ID = 19923]

. wyuf [Option ID = 19924]

AW N -

Correct Answer :-

o gitef azmer [Option ID = 19921]

17) avi Rigloawmr dieracr Jc1 ust aol @at gol?[Question ID = 4982][Question Description = S2_qSNz_PG_NEP_Q17]
1. 3carul, IaRvl, g@ul [Option ID = 19925]

2. eafér, avf, 3tavf [Option ID = 19926]

3. ooel, Ricur, safédas [Option 1D = 19927]
4. 3ifdrRur, *a3el, edotel [Option ID = 19928]

Correct Answer :-

® 3Icarur, I5avl, g@ul [Option ID = 19925]

18) grawm-gR«del, udq afdmr - Ml orecadrst ursel Fudiftad fieerdarem! smerR @ a1?[Question ID = 4983][Question Description =
S2_qSNz_PG_NEP_Q18]



. ferser [Option ID = 19929]
. adet [Option ID = 19930]
. ame2 [Option ID = 19931]
. gmma [Option ID = 19932]

A WN -

Correct Answer :-
e ferger [Option ID = 19929]
19) HISIH! draRIICHD AT~ HIUTGIHT AdoaI dcldl Tbrs ol a1?[Question ID = 4984][Question Description =
S2_qSNz_PG_NEP_Q19]
. %u [Option ID = 19933]
. auf [Option ID = 19934]
. aier [Option ID = 19935]
. 91eg [Option ID = 19936]

A W N -

Correct Answer :-
e %u [Option ID = 19933]

20) smemRus: Srurel araRIAT STIAUGA dol ol B AMRTD Ics?
A. odca

B. ®rwea

C. miwa

D. ®iferar

dci fGsudt frscusdrc FEl IR TRl STefBIR]

[Question ID = 4985][Question Description = S2_qSNz_PG_NEP_Q20]
1. A,B
[Option ID = 19937]
2. C,D
[Option ID = 19938]
3. A/B,C

[Option ID = 19939]
4. A,B,D

[Option ID = 19940]

Correct Answer :-
e AB

[Option ID = 19937]
21) urell UiRaes @13 Feboo Al araREn fgRmuce @l of walter siieT sSR! FISCE fRppmucs! A=l Fudré & sifsoe?[Question ID =
4986][Question Description = S2_qSNz_PG_NEP_Q21]

1. oduza [Option ID = 19941]
2. amceiug [Option ID = 19942]
3. uzdiug [Option ID = 19943]
4. i [Option ID = 19944]

Correct Answer :-

o ascfuza [Option ID = 19941]

22) suifersioll ATEIAYRIG URdelcl olUrcil MHm3I ferg=rat dfcacer 96 Riomuamt do?[Question ID = 4987][Question Description =
S2_qSNz_PG_NEP_Q22]

1. gg [Option ID = 19945]

2. et [Option ID = 19946]

3. amo [Option ID = 19947]

4. g [Option ID = 19948]

Correct Answer :-
e g [Option ID = 19945]

- A 9156 stord1 SRdol FudIfead PeeIArd! AT RITDAVD MIENR Bt 317

[Question ID = 4988][Question Description = S2_qSNz_PG_NEP_Q23]

1. ®R® g

[Option ID = 19949]
2. adel



[Option ID = 19950]
3. ferger

[Option ID = 19951]
4. uc AJsgeIfer

[Option ID = 19952]

Correct Answer :-
® OR® g
[Option ID = 19949]
24) ourcl orecepl @ goft WUl foruram! aviel Adger dol RM2vT sfoeE# urses?[Question ID = 4989][Question Description =
S2_qSNz_PG_NEP_Q24]
1. afdqar [Option ID = 19953]
2. serafegar [Option ID = 19954]
3. ommur yaor owrell &ma2ur [Option ID = 19955]
4. gag owircht wmesur [Option ID = 19956]

Correct Answer :-
o afdgemt [Option ID = 19953]
25) @, |, 31, ¥ SRl R5olel dltib ARG FAIDI ITARYI Ufol ledfoifdda 2ol faftr guneiiens o sifstow?[Question ID = 4990][Question
Description = S2_qSNz_PG_NEP_Q25]
. srewrde [Option ID = 19957]
. cRiBifast [Option ID = 19958]
. 3@t [Option ID = 19959]
. aigrer [Option ID = 19960]

A W N -

Correct Answer :-
e 3icwre [Option ID = 19957]
26) srewrdied cidel yulieliar eiiecied ¥ SRIfoRRI eYIa=id dioiae A firrenfe R Iccia sReT Iof? «l aol @t gol?[Question ID =
4991][Question Description = S2_qSNz_PG_NEP_Q26]
1. (.), (,) (;) [Option ID = 19961]
2. (.), (), (!) [Option ID = 19962]
3. (.), (), (-) [Option ID = 19963]
4. (/), (-), (‘) [Option ID = 19964]
Correct Answer :-
® (.), (,) ;) [Option ID = 19961]

27) sraroft firggent forgatferi¥ad e Ao YbIreId] ! BIcliglad fRifad sTefalz]

. IRt A. 288V
11, sraed B. 2243
111, 3dIloR C. g8¢0
IV. ST Rt D. 239y

[Question ID = 4992][Question Description = S2_qSNz_PG_NEP_Q27]
A, C, D, B [Option ID = 19965]
B, D, C, A [Option ID = 19966]
C, A, B, D [Option ID = 19967]
D, A, B, C [Option ID = 19968]

A w N =

Correct Answer :-
e A, C, D, B[Option ID = 19965]

28) a3z 2 A1 HIHIASIONEs Bo] I A R Al IollewSRI Yferuifed saemvn o] Riesgsizy

WIE ° AT
A. St 3R Bef |. JPUTGARVT RATBUT
B. cilels sqpifises I, fgar ferrer

C. snya slistar aaebilll. forwe acm faeesuuy
D. Jwror ardewior ||V, Rt gargear

Jfor fesumT fmeusarc F8l 3Tz RI6l STof]

[Question ID = 4993][Question Description = S2_qSNz_PG_NEP_Q28]
1. A-11, B- 1V, C- 1, D- 1l

[Option ID = 19969]
2. A-1ll, B-1,C- 1V, D- I



[Option ID = 19970]
3. A1V, B-1Il, C- 1, D- I

[Option ID = 19971]
4. A1l B- 1V, C- 11, D- |

[Option ID = 19972]
Correct Answer :-
e A-Il,B-1V, C-1,D-1l
[Option ID = 19969]

29) Oz sfidrgd oned Hwol

@ IR lIPTo) fapot
fepsifect ara 31 318l @ol?

- A YTl ‘g Sl UgTdchian! drewRf @ a1?

[Question ID = 4994][Question Description = S2_qSNz_PG_NEP_Q29]
. OlUICHI AVIIIoc] I FolcloeT DI 9Tud! dioret sempvs [Option ID = 19973]

. I AIG9NE SliRgoldel sRE®! #figacn [Option ID = 19974]

. IWIRE Jofiact WieTE e sRIed! aifer g [Option ID = 19975]

. JBBIRII UIUSda¥cl SRd! Plrdesdl AR [Option ID = 19976]

A wWN =

Correct Answer :-
®  SUICHAT VTG0, I FoICTPGT DI 9eeh! dlsrel earpos [Option ID = 19973]

30) Oz fidrgd oned ol
@ IR II5To) fapol
fepsifect ara 31 318l @ol?

- et 'fepdife’ aref @ ar?

[Question ID = 4995][Question Description = S2_qSNz_PG_NEP_Q30]
. argme [Option ID = 19977]

. @I [Option ID = 19978]

. argfor [Option ID = 19979]

. fpefl [Option ID = 19980]

A wWN =

Correct Answer :-
® o [Option ID = 19977]
31) oicar ‘WRIeI’ oI d>abl merRaAr s1t¥uaml 91 aI7[Question ID = 4996][Question Description = S2_qSNz_PG_NEP_Q31]
Jocrm! e [Option ID = 19981]
3dar smemar [Option ID = 19982]
rfer smearer [Option ID = 19983]
aufepr amremrza [Option 1D = 19984]

A W N -

Correct Answer :-
® Jogdrp! 3maran [Option ID = 19981]

32) $IRACIC "gel DA ISR ferseel cRADI gol Mol Adt Iddman T ool olUIcId] DAPR DI ol?

[Question ID = 4997][Question Description = S2_qSNz_PG_NEP_Q32]
1. sm3uoeft [Option ID = 19985]

2. Sidtog amor [Option 1D = 19986]

3. dwor awd [Option ID = 19987]

4. 1) gkt [Option 1D = 19988]

Correct Answer :-
e ssuselt [Option ID = 19985]
33) ‘3IfSISoR®I BRI Sad RIS’ , ‘Al Hidd Hdel, IR PRI a$del Sdl 3Wleial uf:d9r Rerefsoasia gt IAgifodm @erRvIm! AFDd
urses?[Question ID = 4998][Question Description = S2_qSNz_PG_NEP_Q33]
. =razen Rrgea [Option ID = 19989]
. g amenfearasar [Option 1D = 19990]
. 3IRI 3igjeyatt [Option ID = 19991]
. Aad urReferbt [Option ID = 19992]

A wWN =

Correct Answer :-
® wrazen Rigiea [Option ID = 19989]

34) Riferpaarc yoifdra stemt ufde aqot aot gol?[Question ID = 4999][Question Description = S2_qSNz_PG_NEP_Q34]



. Jlem, arrgedt, et [Option ID = 19993]

. ®iften, argagz, seder [Option ID = 19994]

. Rwnch amom, Rarergeh, Riggar [Option ID = 19995]
. forx, 3gem, clemmet [Option ID = 19996]

A W N -

Correct Answer :-
® Jilord, onsedl, ergRi [Option ID = 19993]

35) ‘& Secied Aed] RBrdluleRT
- IWftp pfdarm! ofitaar wdl cIgvn Uses?

[Question ID = 5000][Question Description = S2_qSNz_PG_NEP_Q35]
. 3uretel ctgon [Option ID = 19997]

. %f cgon [Option ID = 19998]

. JAreaRIen etgon [Option 1D = 19999]

. a1 crgmon [Option ID = 20000]

A w N =

Correct Answer :-
® 3urcral cigun [Option ID = 19997]

36) aryca fQUISI3GRIR CRAGIIel UISIICI] dgol BIRIA ‘31l forifoqa difgadr - a1 Jsdd urses?

[Question ID = 5001][Question Description = S2_qSNz_PG_NEP_Q36]
@ awedt [Option ID = 20001]

. gfg-Reits [Option ID = 20002]

. sgfrarz [Option ID = 20003]

Frcr-apfer 2targ [Option 1D = 20004]

AN wN -

Correct Answer :-

o ot auft [Option ID = 20001]

37) ocicor! fdadre A 910 e sied gol galedars @ sforoe?[Question ID = 5002][Question Description =
S2_qSNz_PG_NEP_Q37]

1. wawst [Option ID = 20005]

2. disr [Option ID = 20006]

3. gy [Option ID = 20007]

4. frog [Option ID = 20008]

Correct Answer :-

® uarwt [Option ID = 20005]

38) @I 9l Agliodd JAATCITIGICTS e 3MMeicsd] Y Hlool AdATCa® DI gol?[Question ID = 5003][Question Description =
S2_qSNz_PG_NEP_Q38]

1. IoeRrRT Gernel [Option ID = 20009]

2. enféa &5t [Option ID = 20010]

3. soguasig2 A [Option ID = 20011]

4. wiem st [Option 1D = 20012]

Correct Answer :-
® JIGEIRRII Gerrel [Option 1D = 20009]

39) oradICITen 2 RRINC Fuacar foreifeiRaa aet wee 1é aI7[Question ID = 5004][Question Description =
S2_qSNz_PG_NEP_Q39]
1. SIRIHAICIIGIICT DieTeD! ietict fAURIAIHAT Ulol YHIaD! st 918 910l ARBRIC

FUdIcal Sicfiel UIGdben Uro! JHIaets Bellss

[Option ID = 20013]
2. SIRIACIIGIC AciGRI UG 3cUcol ol YHIAdDI 3eIRIol 318 $iol PRI

Fudical Dfcie! deflel fAtRIaIgHT Ulol YIIIADI 31¢RIol 18

[Option ID = 20014]
3. olaAICldol 2 2RRICH FUdIg, gl I3Yol 3ol dciic] [AWRIAIHT Ulol YBIIAD] 31¢RIol 18

[Option ID = 20015]
4. olauIciIdol 3 R Fudrc gdcl URl8T JUHI D! lcfiel Uroma Ulol

YIIIAAR 3[ERRIel STHa],

[Option ID = 20016]

Correct Answer :-

o S[aAHICIITGIICT DIcID! ictlc] fATRIaF AT Ulo! YIam! dlsh o1 1ol BRI

FUdIGel Sicfiel UIGdbar Urof GHIaets dellss

[Option ID = 20013]



40) ryouT 9pict ATforTens dioiaR ARSNRIA qeToll SRW®I Bo]| IJoTod! fararal Al dietaer arR & @ gof?

[Question ID = 5005][Question Description = S2_qSNz_PG_NEP_Q40]
1. s1rqot, 3ropera 2 seet [Option ID = 20017]

2. Ao, Asten 2 scet [Option ID = 20018]

3. arggIfer, Ader 2 wsten [Option ID = 20019]

4. Ao, fde 2 emden [Option ID = 20020]

Correct Answer :-
® 911doll, 3loferd 2 seat [Option ID = 20017]

41) ‘sIRIDCl U3l 329 <l crerrRIl 3ifol arus il HISHHI Te IRID! gd ? dogdrd! ulMaAlR Uof ora sril
- BT AITRIAT SIFIT Bferaet ifIYRIE: Tol?

[Question ID = 5006][Question Description = S2_qSNz_PG_NEP_Q41]
1. g$ [Option ID = 20021]

2. oot [Option ID = 20022]

3. ar [Option ID = 20023]

4. ufa [Option ID = 20024]

Correct Answer :-
e ¢ [Option ID = 20021]

42) forrarfeiRaa gt faaeuct ciparaie! fadruar R skoo?[Question ID = 5007][Question Description = S2_qSNz_PG_NEP_Q42]
. gfér, gIfer 2 feaefie [Option ID = 20025]

. #liRa®, ygelel 2 cixet [Option ID = 20026]

. gifér, spettor 7 aiférrer [Option ID = 20027]

. gopfer, syefiur 3 #iifRae [Option ID = 20028]

AW N =

Correct Answer :-
e gife, Ja1fer 2 faeaefie [Option ID = 20025]

43) SIaAAICIIGI I ACACIAIGHISI UISol ATSII B Bl 817

[Question ID = 5008][Question Description = S2_qSNz_PG_NEP_Q43]
1. g Dfera) et aen ucot gad! YR sifr stalfera ufsggra arefor wof

[Option ID = 20029]
2. gddl [AwRE [eauvurD! Aol 316 aIFRI SERRIGICIS RIS SIoBo]

[Option ID = 20030]
3. gdA Bfert Aol derr sl ga RfereIRie aifor Astofiferas uf¥ggermt 3ue ol

[Option ID = 20031]
4. gdcrs Akl YesRie Rigoaidge el s

[Option ID = 20032]
Correct Answer :-
®  gdd afera! clael de usel gddl RIeBIRID 31fer Ausrelfera ufdygIml rereler woy

[Option ID = 20029]

44) a1 ufeIsel oRITG! HAD-ICRI

Plgsard) dafie awgfif

URFURIDI SIFIIcTdIC 3 SId

ufor IFaot ISl Ri-RipR 3w

IR 32D Fqui-gerss |

- IR PIIAIIDT AcGHAT ‘FRT IRAUTDT FAVT-I3T83%  UGTl Dl HIGIRID CFATDI Gfelbelol SIS ?

[Question ID = 5009][Question Description = S2_qSNz_PG_NEP_Q44]
FrIcHD seet [Option 1D = 20033]

. adicans [Option ID = 20034]

faRlemamt [Option ID = 20035]

sioagsg [Option ID = 20036]

A W N -

Correct Answer :-

e i seot [Option ID = 20033]

45) ‘B4, Sieters @ o a! 3l fp! Iufs s rEm! a2 wolas a gell iR 8, gedie! Al gl R JWOUS ’ - ‘HASd 8- IUGARIA Al IHdIS @l
ferer=IepT Acssian sl ©7?

[Question ID = 5010][Question Description = S2_qSNz_PG_NEP_Q45]
1. 3Icolid! uferel Uzl s1dtol



[Option ID = 20037]
2. ol ufet 2 JAGRDY 7y

[Option ID = 20038]
3. yedian fafdroot yrapferas acol fdecor

[Option ID = 20039]
4. Jdoraf 3iftiw oDl iR 3 dolls

[Option ID = 20040]

Correct Answer :-
® 0ol Ufefed! USG9l slTol

[Option ID = 20037]

46) 3eMRUG: ACIDBI Aol Mol BT HBIGIG ATUDBICIDBT Fol?
A. 3133 9rec ] euleRId A d 312l T $ATS? Bogdpl Ieufel FeATel Bedl Ut sTurefl 1191 2 STIferdT 3gaap 3A=A1 ufel Bel us
B. s1e)1 SAISYIDI ot eilol TRUIDT T 3ISI T Al g§ ISIDI U 3iid gow

C. 132 %ivol 916Gl Ueb fRpRT9Tad] SYiivial, FRIm! fogerRar, vd AchRRIRIGIEIC g3 W] siferaier urRAus] a1 Uss) @idUsi gade! H1d fagio] 2 ufdsasat
TG Bl UISeaY

D. =133 B19)) SIKiRI Boc 31 oturchl srT Sifer AR B 333 Bog ufer 3ferd> ARl ®

dcl fesuml frmcusdic Wl IR <RIl SGIBRT
[Question ID = 5011][Question Description = S2_qSNz_PG_NEP_Q46]
1. A,C,D

[Option ID = 20041]
2. A,B,D

[Option ID = 20042]
3. A B, C

[Option ID = 20043]
4. B,C,D

[Option ID = 20044]
Correct Answer :-
e AC,D

[Option ID = 20041]

47) snemus: FAad SogusIgE IEA FUGIRRIVI RisdT aRd RF> ST HodwT qol Bl Fol?
A. FucIRRIvT Riscl Fasiidlk RIguie! 3usarRt ceel FisiaT 2o

B. 22¥ ¢ AT WUIRKRIVI RBiac SRl 3ucar ‘fsiel’ - enrcoll a1ef srit

C. ‘s1a1?’-a11 Siretin irerf¥fen Rieor &

D. ‘sirefl’ gerar adfar wuciRIvT Rise! ar ofddr, e @, vaR gerrel FFUIchRI YaHdrd s1edT 8o
dct RRsum! famcusdice A8l 3R TRIGT SIosRY

[Question ID = 5012][Question Description = S2_qSNz_PG_NEP_Q47]
1. B,C,D
[Option ID = 20045]
2. A/B,C
[Option ID = 20046]
3. AC,D

[Option ID = 20047]
4. A,B,D

[Option ID = 20048]

Correct Answer :-
e B,C,D

[Option ID = 20045]

48) ARFDIcID DelrdTdd] AMEUGT 3ol STGIGIONRIoIcT gedich] AFDE 3ol AR IRDI ALAY[eI Uil SRIcAItC RITP dlof fRIGTe] DI gol?

[Question ID = 5013][Question Description = S2_qSNz_PG_NEP_Q48]
acez Aostfior [Option ID = 20049]

Sitotterot A [Option ID = 20050]

Af¥et serewect [Option ID = 20051]

wIcf Bsaz [Option 1D = 20052]

A W N -



Correct Answer :-
® qcc2 Joonfder [Option ID = 20049]

49) et gEacr wod fisuwmT Doy, w3erens sifdraeret sifsrem! @ sifor srpiens ads sifsrem! @

3if3reperet 31- BIRIa sferRIseeT adl ATdsiifdre JID! IguIce 318

Ad d - SIGRT ATGIIDI HTADT BIRVIC HRI SHidol 2 fraR®! BIferd fadudassa! 3garcd et Aol
HIFADT DUATDI ICIDAT del $3TDT fapcusdic Aaiferad IUYD 363 TRiel o{E1Y

[Question ID = 5014][Question Description = S2_qSNz_PG_NEP_Q49]
1. srragd A&l ool

[Option ID = 20053]
2. 31 ud ® aAd o

[Option ID = 20054]
3. srzagd A Sar

[Option ID = 20055]
4. 31 38 Vo @R d a@fd dE ©

[Option ID = 20056]
Correct Answer :-
® 3137 gd Al ol
[Option ID = 20053]

50) aer ggaer werer Rswat vo|

Dol ¢ YT RAISTEID BRI ATE QAT AHIACIAIS] Al FRIC! TolTed! A3 YRITLD! Il TS 31 Sit IYRISIA FATIT aIaRIAT YdT oo

DAGTR : T )| ugfea 3 &t senife B quel araf sSRwT weneT ged awa ot YBrRI go] SIRIc DACIpd] PRI SI$a0]
DT BeAGTDT ATCAIBHI el fEzudT Ricussd e JAaifers IUITD I a6l STefal]

[Question ID = 5015][Question Description = S2_qSNz_PG_NEP_Q50]
1. @Gt ¢ I DT 2 Al YA SMMPYRI 2 DRI aR—AdHAT B3¢ G o,

[Option ID = 20057]
2. DUGI ¢ T DUl 2 g Al ol AR ferolel AgDe sRDI UG Pioonfdool gol,

[Option ID = 20058]
3. cnfl IqRIct gsiudT [199 1o IRiI6l deda ol 90l sl yuat gsmud! Yot dl dema gol SRIGRI de forfdfd goo

[Option ID = 20059]
4. YRrooArd! frecsurar B a1 f3e JAFED] IERRI6T 2 cllpDATD] [A°S3uUT YbRID! 3eRIel 2l gd eARRd dA8DI 316l 8ol

[Option ID = 20060]

Correct Answer :-
® Dol ¢ I DT 2 Al Y IAIMIYRI T YRl aRdadr B3¢ GRA 8ol
[Option ID = 20057]
51) socaeIg: ALHI JAATCIAGIHD Ydotl- ‘el cagoa -1 dol faeren yorel urisem! ?[Question ID = 5016][Question Description =
S2_qSNz_PG_NEP_Q51]
. IRk Aot [Option ID = 20061]
. W 9wIiBT ‘¢ gt Tale’ IO Ydoti 313! wigetasa [Option ID = 20062]
cfietreradolp! amemefd areiar [Option ID = 20063]
. geItradt ARt yRragar [Option ID = 20064]

A W N -

Correct Answer :-
® 3Rl cRaet [Option ID = 20061]

52) “aonfdrcudl AecHar gadog siladm! ‘3ifeiRaa’ HAclifdsierd! Fader ATewrl 2 Adeyard! R yafiarr! gousart (Tsél oia)
31” 91ool URE I gol?

[Question ID = 5017][Question Description = S2_qSNz_PG_NEP_Q52]
1. soquarg? IS

[Option ID = 20065]
2. ot silas

[Option ID = 20066]
3. HEAYAG URA¥T

[Option ID = 20067]
4. DUKGGRIB Yol

[Option ID = 20068]

Correct Answer :-



® SoguaIg IS
[Option ID = 20065]
53) WAYRAIG AcATCIDI ‘Detradl’, ‘Agare’ T ‘AVI AUS SRY) e’ ST I IRSATol ol Ufefebrait Yaptfdrd siuept f2ra?[Question ID =
5018][Question Description = S2_qSNz_PG_NEP_Q53]

stz [Option ID = 20069]
. Yoot [Option ID = 20070]
. amerdt [Option ID = 20071]
. oiafeft [Option ID = 20072]

-

A w N

Correct Answer :-
® iz [Option ID = 20069]
54) IF®YUC dI RRIDI UIGDI 3 D Bl oI IAWHDI AIATCIURI oA BATAIC (U0l $o8 ool oldiol ARV dAcT 3T ARDI Fol?
[Question ID = 5019][Question Description = S2_qSNz_PG_NEP_Q54]
. SrIes fer [Option ID = 20073]
. Brarser aif¥ecrot [Option ID = 20074]
. Jes fafere [Option ID = 20075]
. 23 sorecat [Option ID = 20076]

A wWwN -

Correct Answer :-

® Spres fUeet [Option ID = 20073]

55) werwar frafdencrde Aoy 2252 AT YDA ‘olurcl crgodst : $¢3] 33 uos 3sciiudioc’ ofitde suml RBitberasdl NP e cRa® ®I
gol?[Question ID = 5020][Question Description = S2_qSNz_PG_NEP_Q55]

1. Juar e [Option ID = 20077]

2. arerazeur dader [Option ID = 20078]

3. gueles offarraa [Option ID = 20079]

4. Yofiferpgare =restf [Option ID = 20080]

Correct Answer :-
® o e [Option ID = 20077]

56) ‘me1 well 2@l 31 ATE, HRT Dal Bt
gocIde aefdel RISl stet ast

HIf3T sl 31| AT ABE  HaA

DHCID] doldal A 43l Bell st
BIST oIS s/ AET  HaRr’

- Y oot e¥lap ot a1?

[Question ID = 5021][Question Description = S2_qSNz_PG_NEP_Q56]
1. eu [Option ID = 20081]

2. =g [Option ID = 20082]

3. <t [Option ID = 20083]

4. grst [Option ID = 20084]

Correct Answer :-
e cuy [Option ID = 20081]

57) owrelt i Wfdpen ot o 317

[Question ID = 5022][Question Description = S2_qSNz_PG_NEP_Q57]
1. daaform Aere eSS 2 sfi 138 TR yoft g ureeT Acdcio! g quier sy

[Option ID = 20085]

2. ourcie! 3jcall S YU 2 olidlcl feisrRa S3Md cral 3ol AWED Il
[Option ID = 20086]

3. dieadI YASeEI sNsolacl deol qUlelcAd cllbdIRT

[Option ID = 20087]
4. disior sraie faanfar oldles e el 910 AFISD SUdI SISl it

[Option ID = 20088]
Correct Answer :-
® Jq afderan Aoret Fem3S 2 sfid o33 aer Yoft gaa ured AcfiAdia! g aufer aifsor

[Option ID = 20085]
58) il Af3casioasia disrca, weT, g, silensdl 2 uscll aol yorer sfia gol?[Question ID = 5023][Question Description =
S2_qSNz_PG_NEP_Q58]



. geeform oftr [Option ID = 20089]
. udsfla [Option ID = 20090]

. 3z offa [Option ID = 20091]
. g1 afla [Option ID = 20092]

A W N -

Correct Answer :-
o yreforr sfid [Option ID = 20089]

59) Swfer smemenz<i facacar B 2 Arpia Bgial climonene! Scufamr fafied Riglodssae

@l RIgIod 3I6IRIRYI 3T Bol?

[Question ID = 5024][Question Description = S2_qSNz_PG_NEP_Q59]
1. agermas [Option ID = 20093]

2. SlIfefre [Option ID = 20094]

3. cliofmifoarg [Option 1D = 20095]

4. arvmarg [Option ID = 20096]

Correct Answer :-
® Jgggrmas [Option ID = 20093]

60) “faf§root UIGE AMAI Ual ATl T IRACITS 3Tl FPREINRT sreisel Aaso], RN Sa,
il Bol, dog Sol, Dact kT gaT AR i R T AZNADI SAREAT U 3 URTeT 31 siclorefie 3192 Igw0] ”

STARBTYfTD USOIDT AoGHIAT HOUT TAHDI IURITD Ao ol T DADI DI Addoedl SI¥uDI 21?

[Question ID = 5025][Question Description = S2_qSNz_PG_NEP_Q60]
. wlt eam! ‘sif¥dacam! sidlar Amad! dcr 3ca [Option ID = 20097]

. $az geca ‘sferdia’ [Option ID = 20098]

. crgaltgRIG Saierat ‘ard’ [Option ID = 20099]

. it eftseBY ‘a1 Actcrsar 2rEz Ruddierr’ [Option 1D = 20100]

A W N -

Correct Answer :-

® Al PEenD! ‘i¥dcam! ardla AMad! deir 3era [Option ID = 20097]

61) “3RI Stodt U3l fERIEN3 HUDI 81 FRICIDDI GRAFA 3T AToll A 3NFol T3] - SIS [P of ool ? IeT 3IHAT RIS UGl BCUCITT
TR¥ER JRSA HsIBol, H Hol FSPISIRI 3T RIFSIIAI 31 AR AlfRSo! - Sfiaotd a1d Wiferaicy fob B o1R?”

- SURJTD STETIl DADI BI?

[Question ID = 5026][Question Description = S2_qSNz_PG_NEP_Q61]
. sraroft fargg [Option ID = 20101]

. soggalg2 I [Option ID = 20102]

. fPdazyRis @isaer [Option ID = 20103]

. et 3t [Option ID = 20104]

A WN =

Correct Answer :-
e garoft firgy [Option ID = 20101]

62) ceroT #EA ot 3fid, ofe 2 el Al diolacr! [Bi9T use®? 8l fdmcu JoolslR]

[Question ID = 5027][Question Description = S2_qSNz_PG_NEP_Q62]
1. G AcI3al ofid [Option ID = 20105]

2. Jscl [Option ID = 20106]

3. difsrct [Option ID = 20107]

4. IR [Option ID = 20108]

Correct Answer :-
e g3AAcT30l afid [Option ID = 20105]

63) CIPMARVIGIRIR AT AAURIST cIgeldI clIfd Tolial [&sudl erofuel 3iistol @fer RRrRI?[Question ID = 5028][Question Description =
S2_qSNz_PG_NEP_Q63]

1. 31 ot [Option ID = 20109]

2. <refl3t J101 [Option ID = 20110]

3. A1t FHat [Option ID = 20111]

4. srft awe [Option ID = 20112]

Correct Answer :-

o i3t 9161 [Option ID = 20109]

64) yrlocad HINID] U6l RGFAT 68 I Al Yellpcdd rard! sl sref aigfRie ufst BIRRI SRl giRes 3168 RIRPH, PRAD,
JArcdsiia Al diol yprR®! Yrilvasa! Icci 3ot fagio] @I gol?[Question ID = 5029][Question Description = S2_qSNz_PG_NEP_Q64]



1. RBpdes QRIS [Option ID = 20113]
2. el 3pdamE gsat [Option ID = 20114]
3. s ma [Option ID = 20115]

4. faferEr &=t goe [Option ID = 20116]
Correct Answer :-

o 3dlos BRIS [Option ID = 20113]

65) “Iruciten feE gh¥ret ursol a1 Ie!

R3S 2 9fRAPI ISTeg YIRS for
URrs 3 SfAD! gl Aoil 31 =i fafer cizean dAens A

33Idog gy sl for..”
- RT3 AyGiiar ufel olel UISel oA fdciloll U0l oIl I gol?

[Question ID = 5030][Question Description = S2_qSNz_PG_NEP_Q65]
. 2ftar [Option ID = 20117]

. @cr eft [Option ID = 20118]

. Jorlset Aol [Option ID = 20119]

. 3B Aol [Option ID = 20120]

A W N =

Correct Answer :-
e 3fier [Option ID = 20117]
66) © ®Ial, clol gosl, A 3lISI, ¥ dIR oIl 3l ufdsd sr far? - a=1 yferer®! sief & a1?[Question ID = 503 1][Question Description
=S2_qSNz_PG_NEP_Q66]
. g g3t [Option ID = 20121]
. i sh [Option ID = 20122]
. sitorer a1 [Option ID = 20123]
. wIal cemed [Option ID = 20124]

A WN -

Correct Answer :-
® g gt [Option ID = 20121]

67) 3NeRUG: JUICH® NEIPRIAT AR ATDcIoIDdT IR ATEAA Bol Bl Fol?
A. frqga adsmon

B. R sreaaiat

C. SI3el AFTDCTA 2 AMFTDPD ALASTD

D. ke ufraaf

E. geploa geatracil

el RRsue! famcusedic A8} AR TR STofalR]

[Question ID = 5032][Question Description = S2_qSNz_PG_NEP_Q67]
1. A,C,E

[Option ID = 20125]
2. A/B

[Option ID = 20126]
3. A C

[Option ID = 20127]
4. D, E

[Option ID = 20128]

Correct Answer :-
e ACE

[Option ID = 20125]
68) e 3MMGifcscIrS TbsIoll ICladd] ATC! AMSRID! YARD 8l (YARAIE IcItd) ok g 3lciidoll 3lof fagio] @I gel?[ Question ID =
5033][Question Description = S2_qSNz_PG_NEP_Q68]
1. ¢S g [Option ID = 20129]
2. < skrre [Option ID = 20130]
3. Silol @] =614 [Option ID = 20131]
4. 33 v f¥agd [Option ID = 20132]

Correct Answer :-

o & S &t [Option ID = 20129]



69) SIEIRUG: e olgfoll AFBEIoTT 313 3ol ORI o13fo svafdiida goo?
A. @IeT sigoll

B. oilael sigoln

C. aefRe® oI,

E. >adima siggonn

ac RRsum! famcusedre A8 AR TRIel STofaR]

[Question ID = 5034][Question Description = S2_qSNz_PG_NEP_Q69]
1. A

[Option ID = 20133]
2. B,D

[Option ID = 20134]
3. C

[Option ID = 20135]
4. A, D, E

[Option ID = 20136]
Correct Answer :-
e A

[Option ID = 20133]

70) SmERUG: eId! WMol Wol AT 3Modiyd Alser Urses?
BIE? - BIBR

Uals - Uulels

A.

B.

C. > + a5 - as

D. @ic + 3ar - dgar
E. ocll + @8l - gemesl
F. s - aer

dcl RRsum! famcusedic A8} AR TRIel STofaR]

[Question ID = 5035][Question Description = S2_qSNz_PG_NEP_Q70]
1. A,B,C, F
[Option ID = 20137]
2. B,C, E
[Option ID = 20138]
3. B,C,D, E
[Option ID = 20139]
4. A, B, F

[Option ID = 20140]

Correct Answer :-
e A/B,C,F

[Option ID = 20137]

71) AP ¢ DI DicIPREWCI APE 2 AT HUDI ol Bl gol RIS
A ¢ IQEEQ
A. org: cfdomell. e smssy
B. 3dtor faamer Il. %101 oRAAD®I B2
C. srgf3is apzs  |lll. siterciimisis
D. remapoor orat IV, arqgpen
Jfor fesum! frcusare W8l IR wRI6l STofelR]

[Question ID = 5036][Question Description = S2_qSNz_PG_NEP_Q71]
1. A-IV,Blll, C-1I,D-1l

[Option ID = 20141]
2. A-1IL, B IV, C-1I, D- |

[Option ID = 20142]
3. A- IV, B- 1, C- II, D- Il

[Option ID = 20143]
4. A-1Il, B 1, C- 1V, D- Il

[Option ID = 20144]



Correct Answer :-
e A-IV,BIll, C-1,D-1l
[Option ID = 20141]

72) ddl gact dUd fdsumt 8], u3crers sifdrmeret sfored! ® sifel srpicns ad sufores! &
Sif3rperel 31- Delpiie$ gsol ol T IURI dl ATUGUS ol

ad d - HloGAAFHIA RIRIAI AcAATDI oHd McHIRIEN Foo

HIDT DAIDI MCDAHI el f&3emT fdbeusdrc Jdaiferm SUYTD 302 TRI6T STeigl

[Question ID = 5037][Question Description = S2_qSNz_PG_NEP_Q72]
1. 312dgd A Bo R d-al -l Yt a1dal [Option ID = 20145]

2. 313 dgd A ool 3ifel d-¢I 3-@lI Yfte ard [Option ID = 20146]

3. st &, aad a1 [Option ID = 20147]

4. s zagd ad a1 [Option ID = 20148]

Correct Answer :-

® 3137 gd A Tol R a-cl 3-dl Yie sl [Option ID = 20145]

73) 3meRUG: deleldd! PRI dcwdl refgamferd! sigad forerfzur siefalRy
A. 31

B. forrafir

C. greemen

D. acet

acl Rsue! famcusedrc A8} AR TRIel STofaR]

[Question ID = 5038][Question Description = S2_qSNz_PG_NEP_Q73]
1. B, A, D, C [Option ID = 20149]
2. B, C, D, A [Option ID = 20150]
3. A, B, D, C [Option ID = 20151]
4. A, D, C, B [Option ID = 20152]

Correct Answer :-
e B, A, D, C [Option ID = 20149]
74) ‘f3rootc, 9lovadr, 991 2 f3reAT ARIDI GIofford 66 gol 9ol 31¢f fireordl, gENIGAI, urs, faucel, @ IRRG] forde A=Tm! Affead
3MMEREF gol - Al @21 Gol Affearsd RBigloaan sforeas! a1?[Question ID = 5039][Question Description = S2_qSNz_PG_NEP_Q74]
. cffemarct RBrgrea [Option ID = 20153]
. fafomrioaict RBrgrod [Option ID = 20154]
. urseIfirRa Rigea [Option ID = 20155]
36 [Assgararct RBrgrod [Option ID = 20156]

A W N =

Correct Answer :-

o cficmardt Brgoa [Option ID = 20153]

75) Taolerd ‘1S9 SagaIfsIRID! Slod,, IR gIoifold’ I ‘YagR BBl K1’ - #oR forgsifeiRaa ol agst Yvflcrs #oiaT gol?
[Question ID = 5040][Question Description = S2_qSNz_PG_NEP_Q75]

1. Okl Ica? I 9l [Option ID = 20157]

2. AR, S 2 dageedl [Option ID = 20158]

3. ¥R, st 2 @y [Option ID = 20159]

4. sren, ez 2 gageedl [Option ID = 20160]

Correct Answer :-

e SIel, AR 3 1T [Option ID = 20157]

76) ‘ymid-vazi= wenafer’ (art=nature-x)- a1 g vaA ar (X) @1 @l sref @ot a1?[Question ID = 5041][Question Description =
S2_qSNz_PG_NEP_Q76]

1. olollcAd RAfBed [Option ID = 20161]

2. ODR I ARPIDI A [Option ID = 20162]

3. CIbR®! IA9Id [Option ID = 20163]

4. el darpityar [Option ID = 20164]

Correct Answer :-

o JolollcAd =fped [Option ID = 20161]

77) ferag smuren forfdfa araifg ‘qemps” fogsifeiRaa ot sfeerem snenfya ®?[Question ID = 5042][Question Description =
S2_qSNz_PG_NEP_Q77]



1. ol [Option ID = 20165]

2. gferor Stass [Option ID = 20166]
3. @RleR R azer [Option ID = 20167]
4. cIsdHGiRI [Option ID = 20168]

Correct Answer :-
e ol [Option ID = 20165]

78) forral By slicapadt Aogeiar ‘sAICNfoRIe’ , T ‘SRIIRRIGT g§ RIIbRI ¢IRIGH®I IR sN®I Dol <l HRIGRIHEA SRITGIRRIGT
eRIBIeaeida forFsifeiRaa ot aot e xmme Jef?[Question ID = 5043][Question Description = S2_qSNz_PG_NEP_Q78]
1. 3R, loce, forIedur, Arfddddr [Option ID = 20169]

2. 3risdIfel, DDA, s, iamsdgdr [Option ID = 20170]

3. 3MPR, 3RS, AP, 3ifoRIogUI [Option ID = 20171]

4. JgoIfe], DD, Jtlololl, dlfdBadr [Option 1D = 20172]

Correct Answer :-

o 3MPR, Alocel, forRIoquI, dArfdsadr [Option ID = 20169]

79) snenrug: ‘cadl ot sifor A1 fafoa ameiRy IR
fiferIeft 1<t &t diRTat B2
forogT 1= s1silenr dow Tt
AT DT QU 33 formrer
- A1frop) PfAiorEIc fOrfuID BIRI URFURIDT Bl Bl Jferef dlel ool Afpos?
A. d1o= <ietl forcr ® iRl eI Siofl w12 B 31 A8l A6l Ul Ado] us
B. &8} SI A 31 #1012 311 301 SiTol fUhT Bl 3Rs DA foTogT o131u2 Al Aol BelSolels HfoTad! 31
C. Rormeficrar enfife smervr snfeer sifeify ™ 31 yr sTeie! enffl Fftp ursel ush

D. Aol of 3135 31 YT I[BDT SITGIDI AHasol of ARTIIID GUI 31 AUT I GAT SISl HARAT SHdeIDT VUL BT

e fSsumt facusedre A1 IR TRIeT JIefaR]
[Question ID = 5044][Question Description = S2_qSNz_PG_NEP_Q79]
1. A, B, C

[Option ID = 20173]
2. A, C,D

[Option ID = 20174]
3. A,B,D

[Option ID = 20175]
4. B,C,D

[Option ID = 20176]
Correct Answer :-
e A B,C

[Option ID = 20173]

80) smemeug: ATt 1A Tol Bl DA AT Tol?

A. @rcarefal cofer 9[auIdie TATGIHI go] AdeRRIE & ATd ATl SIS0l DIRICIS HIA DIRI Hool AT

B. 3191 $ITGGIToPT SMENRAT 3To[PAl oIcadl RAD] IfHfeI-SIIaD] Il gov A1 SiTel [ACISIUT 3MTeTogRT RATTULI o5

C. SRIHI ATGI-AFURI §o83, INAT BRIBGI Icufel ol Follcl JATIYFHT TIEMT oo

D. sifSrcafpa fasira siorra caf3ranfeTa FURMHIG AJD! ATH[SD AFaIcTol HUDIT YAD DI IAoIfasoTT faeTgivT Si 3rgut sielocart fafdrserepyfer gos, <Idl 371
et o

dc fGsumt frcusdre &l IR TRl STefaR]

[Question ID = 5045][Question Description = S2_qSNz_PG_NEP_Q80]
1. A,B, C

[Option ID = 20177]
2. B,C, D

[Option ID = 20178]
3. AB,D

[Option ID = 20179]
4. A,C,D

[Option ID = 20180]

Correct Answer :-



e AB,C

[Option ID = 20177]

81) smemeug: iy yftr IRTUGID] BIRIDIIATDT UG AT ACIDT Wl ol 2 TIFY GoTol?
A. FRrardt fararor aaia
B. dichiot eftect 9fftr raetart wfear Aadl fpRisrmt so

C. sarsioT Rigu, RRIgRIR ¥ snsseRyfer sagsr
D. wr=er urcoft : forared slfere featiernst 2 Yeiia Alstolr Jorapt wfrarat lect o

et f3suat facuseare A8 312 TRI6T SToleR]

[Question ID = 5046][Question Description = S2_qSNz_PG_NEP_Q81]
1. A, C,D
[Option ID = 20181]
2. B,C,D
[Option ID = 20182]
3. A)B, C

[Option ID = 20183]
4. A, B, D

[Option ID = 20184]

Correct Answer :-
e AC,D

[Option ID = 20181]

82) for ol % soldIe] T DS Dol 31 W ART ABT
Al APR A3 a3l A sifscl uldaogergdr #Asl '
- I[P BIAAT TP DI ALIRIVIIGASIA ol PIVSHIC forbIfeTudl a1?

[Question ID = 5047][Question Description = S2_qSNz_PG_NEP_Q82]
1. ggows [Option ID = 20185]

2. yoceows [Option ID = 20186]

3. sruamws [Option ID = 20187]

4. 3m®ws [Option ID = 20188]

Correct Answer :-
® Icows [Option ID = 20185]
83) ‘w3Icia® docl sies SRAGSRII Ul YoTel A 9102, HfrIcT S0l Adol R @RGP SWol Aol | - Al Aodod AP al7[Question
ID = 5048][Question Description = S2_qSNz_PG_NEP_Q83]
. dgdfiygare Saopler [Option ID = 20189]
. drerpwor 3w [Option ID = 20190]
. Zcoteast Siteft [Option ID = 20191]
. Yaolrel dolrel [Option ID = 20192]

AW N =

Correct Answer :-

o gy Jaaier [Option ID = 20189]

84) “uxgua auforaNcat el Blsol Il IIenS FHollerol A 3Tol 815l SRISHA B1HId? Wicgl U ” - Azl HIvvI qol AMf3feAd 3Meciciorel
anm®! a1I?7[Question ID = 5049][Question Description = S2_qSNz_PG_NEP_Q84]

1. 2wt [Option ID = 20193]

2. aeht amwmt [Option ID = 20194]

3. gc ulRrr afdrrer [Option 1D = 20195]

4. ceremars [Option ID = 20196]

Correct Answer :-
o et [Option ID = 20193]
85) A3z ¢ DI ALASTDCIS AT 2 DI ALAGDA01 ISR
A 2 R2F; FgR]
A. srgelicere ||. siopeferarg
B. orgma  |ll. Seuftrarg
C. sigomed  |lll. Suufrarg)

D. sifdrera 3pIV. yfepars

Jfor fesum! feusare A8 Ia? wRI6l SToflR]
[Question ID = 5050][Question Description = S2_qSNz_PG_NEP_Q85]



. A-1l, B-1, C- IV, D- Il [Option ID = 20197]
A-1Il, B- I, C- IV, D- Il [Option ID = 20198]

. A- 1, B-1ll, C- IV, D- | [Option ID = 20199]
. A-1, B- I, C- IV, D- Ill [Option ID = 20200]

A w N =

Correct Answer :-
e A-1l, B-1, C- IV, D- Il [Option ID = 20197]

86) ‘3HoI-cIgHl’ -cIr$ 3ol SIKRT BoGdT IFEMIAAT IYolI3ol SHPlidT B 3161 go '~ ‘Fol-clefl’ BIAAIER Al AATCIITGI 3Tof fAGIe] B Fol?
[Question ID = 5051][Question Description = S2_qSNz_PG_NEP_Q86]

2w gmf [Option ID = 20201]

gaotrel Aotiel [Option ID = 20202]

arstart et [Option ID = 20203]

IaTolog Aaepict [Option ID = 20204]

A W N -

Correct Answer :-
e S ot [Option ID = 20201]

87) “faeran i ferso] sifoeror- ‘A1 ufor Ast s
FaoIfsedlerml ® s ufer o e?

AR P02 FATIFAT SH2 oI

ARI & o a1a)! feroft yapfer sfoersy

- DIRID! AcGHIIGRAR A I LI cdfoifda Faz agat aI?

[Question ID = 5052][Question Description = S2_qSNz_PG_NEP_Q87]
. omtardt zaz [Option ID = 20205]

. omstareyfer sager [Option ID = 20206]

. ft-yauast Aame siftrdl el [Option ID = 20207]

. ofiftrareet fadter [Option ID = 20208]

A WN -

Correct Answer :-
e oiglardt xaz [Option ID = 20205]

88) 3memRUG: TIcIbT ol ol Dol ALY 3Moilcsd! DI Rigloarior Asafoerd Do?
A. BIRIA QR HARD! o s1de

B. @rrel siferep faead) e sige

C. BT ARAID! GIfSTB Yool ATerel Nsel

D. wrea FgTRIT Adsieer gut dleft 31

E. ®rca BRUIe! 9fgdc 3lsol a1 dlsel

dc fGsumt fcusdre JEl IR TRl STefaR]

[Question ID = 5053][Question Description = S2_qSNz_PG_NEP_Q88]
1. A, B, D, E

[Option ID = 20209]
2. A,/B,C E

[Option ID = 23379]
3. B,C,D, E

[Option ID = 23380]
4. A, C,D,E

[Option ID = 23381]

Correct Answer :-
e A B,DE

[Option ID = 20209]

89) smemug: f PRIAMT eI GISITCID! BIRIBIIATER ACID! Bol Bl BT A Tol?

A. ¥ 9165 3 331 3¢ olulcil 9reg ] FHRINSTolcl A6 UISITeID] DIl TPt D ToldI gotol

B. cromrer UigRIretast o fidmar silcll fRrodot 3 zftcmivic fardrr ureet @

C. sizasayemot dicht s anfcas galeardra doter digaTers) wicRitocier sl uR! &

D. craocier UiSITeTapT Wb ferdrer SaSOrasdr 3 39T $ITaasT AT SIS D Il 3ifoT RIFSIGID! AIEC &
et fésumt famcusare A8} 32 TRI6T STeieR]

[Question ID = 5054][Question Description = S2_qSNz_PG_NEP_Q89]



1. A,C,D

[Option ID = 20213]
2. A, B, C

[Option ID = 20214]
3. A,B,D

[Option ID = 20215]
4. B,C, D

[Option ID = 20216]
Correct Answer :-
e AC,D

[Option ID = 20213]

90) 31 ufsIEal olAdol HIA-ICRI
Biqaere! T avsgfert

URFURIP] SIFoTeIdIc H STd

ufol 3Fwol It/ LA-RIPR 3o

3R IRIDI Fqui-gores |

- IR pfeiord! ‘UiRIND uwsfeifty’ ucel @ ATDd SISs?

[Question ID = 5055][Question Description = S2_qSNz_PG_NEP_Q90]
1. emfomzq [Option ID = 20217]
2. smeld e [Option ID = 20218]

3. gemel gzawm [Option ID = 20219]
4. aifdiea [Option ID = 20220]

Correct Answer :-
e o [Option ID = 20217]

Topic:- Nepali_B

1) SWwfTb srerior U3 acl R3udT Yeotsam! 3a2 Rofely

“epferdr gdiea RN ool Afolow ARG SfIDPI JACTHAT IATIST DI AZ21id JIPR d Ao o  BIAHT PBIER Uol fAftId TSI361 B! Siifoles 2!
DE RIRT DIAAT ARAIGIDI cIIfSI Ufol d aIfdee of Sloldrd olIfdl AMBRA AW AGRANRR, Slod, SIIRTUI AH, Jadlel, sferic, olkeglcl
SToTeIdl ufor ARBRIFDR Riaous o1 Afdi3prasia el sisos ”

-IURITP JTENI Ua: ddl [G3uml Yestaeml 303 [3aIaly

ARBRRIFPRAR IWRfth Aodca @l al?’[Question ID = 5056][Question Description = S2_qSNz_PG_NEP_Q91]
emft e [Option 1D = 20221]

$eqaacetst [Option ID = 20222]

Ieleg 9wsEI [Option ID = 20223]

oIyt g [Option ID = 20224]

A W N -

Correct Answer :-
o it wrser [Option ID = 20221]

2) IWRA SwE9r e dad f$sumI grsiasdl IR fCoelR]

“pferdr gdlen RN Mool Jfotow A6 STIMD] JASTAT AT DSl AZ2lid JIPR d Ao o  BIAHATI PBIeR Uol fafeId TsI3ol BT Siifolos 3!
DI AR BIAAI HRAIGIDI IIfS Ufol d TIfdo® of Sloldrd dIfsT MBI AW AMANRR, Slod, TICIRUI A, Sadicl, sieRIc, oReglct
StodIcl ufol AfFRRIFDR RIaeus o1 AdIBIPASRA <Gl sisos ”

-3WRITD SIEN9I Ua? dd [G3udmI yooiaeml 312 fSal8R]

Pfdr gdle oo #oR Hlcol ar ure® gol?[Question ID = 5057][Question Description = S2_qSNz_PG_NEP_Q92]
1. siggeisft [Option ID = 20225]

2. grex [Option ID = 20226]

3. fésgread [Option ID = 20227]

4. g [Option ID = 20228]

Correct Answer :-
® gt [Option ID = 20225]

3) SWRA swEn9r uc: dd f$sumI grsiasml IR fCoslz]



“opferar gdiea R ool Afolo® HiARIGT SIMI JACTHAT IATIST DI AZid AUIPR d Ao o  IAHAT PBIER Ul fAftId TSI361 B! Siifolos 2!
DE RIRT DIAAT ARAIGIDI cIIfST Ufol d aIfdee of Sloldrd clIfsl MBI AW ATRANRR, Slod, SIIRUI AH, Jadlel, sferIc, olkeglcl
SToTerdl ufor ABRIFdR Riaous o1 Afdc3pIasia cer sisos ”

-IURITP JTENI Ua? ddl [33uml Yesiaeml 303 [3aIalRy

adarer ub¥gae ure : ursdfda ol geea 8?[Question ID = 5058][Question Description = S2_qSNz_PG_NEP_Q93]
. #liftres ggea [Option 1D = 20229]

. #iedsTdies gzca [Option ID = 20230]

. sifiriz®R ggea [Option ID = 20231]

. UIRRDR gzea [Option ID = 20232]

A W N -

Correct Answer :-
® siifers ggea [Option ID = 20229]

4) SufTe SNl Ue? dd fG3udl Yeolaed! IR [CoIsiRy

“pferdr gdlea sRN Mool Jfolow A6 SHMD] JASTAT AT DBl AZ=id JIDR d Ao o  BIAHAI PBIeR Uol fafeId TeI3ol BT Siifolos 3!
DI AR BIAAI ARAIGIDI ifSl Ufol d TIfdo® of Sloldrd dIfsT MR AW AMANRR, Slod, TICIGEUI AH, Sadicl, sieRIc, oRkeglct
STotdrel ufol AfFRRIFDR Riagus o fdcprrasha cer siseo ”

-IURLTD JTEN9I Ua ddl [Gsuml Yesiaeml 33 [Ga1gizy

HMBA3PIA UreldT eifdT 3refdpel 3raz-e gol a1?[Question ID = 5059][Question Description = S2_qSNz_PG_NEP_Q94]
1. siomercrazer [Option 1D = 20233]

2. wropifdrereprazen [Option ID = 20234]

3. amerviiaszor [Option 1D = 20235]

4. Rrwma [Option ID = 20236]

Correct Answer :-
® arerarazen [Option ID = 20233]

5) SWRl™ swEn9r uc: acd f$3umI grsiasml IR fCosiR]

“epferar gdlen SR siool Afoloo iaRIeT SOPI JIBTHT W3l DI AZ=MId AUIPR d AIfdod o 1T BIeR Ul fAftrd F=I3al ®af siiforos 3!
DI RIRT DIAAT ARAIGIDI ISl Ufol d aIfdo of Sloldrd oIfsT AT W AMRANRR, Slod, TICIRUI AH, SadIcl, sieRIc, oReglcl
Stordrct ufer AfRBRRIFeR Riagud o Aii¥cism@rasiRa et sisos ”

-SURfTD STEN9I UG el f[suaml Yrolaeml 3t fofglzg

JWRITH FHodoa dei ursesd?[Question ID = 5060][Question Description = S2_qSNz_PG_NEP_Q95]
‘Topft wrset wfddass’ -t gfdret [Option ID = 20237]

‘e wltenss’ - g [Option ID = 20238]

‘ gregEd! Yotall’ - 9jfdrpren [Option ID = 20239]

‘anfda axcll’ Y o [Option ID = 20240]

A w N =

Correct Answer :-
o ‘Torft prseie! Bfdaes’ -®l 9fder [Option ID = 20237]

Topic:- Nepali_C

1) S ofddior uc: AMRITDI Ylgsdl Ik IUYD by Bl o8Iy
‘Joo] Hfedo]
ool HId fergol Hfedo] clobIer

PRICT A GZFoNDI Huql sfdrere: Risd ’

DIAAIIET IccilRad ‘doo] sifcape]’ of d genum! ?[Question ID = 5061][Question Description = S2_qSNz_PG_NEP_Q96]
1. fomfur aifor ed2r [Option ID = 20241]

2. amordier ZwaIem <y [Option ID = 20242]

3. 91K fersol wfdie] ¢oIwIct Wico] [Option ID = 20243]

4. ©3d g Q@i [Option ID = 20244]

Correct Answer :-
e fowrfur sifer edr [Option ID = 20241]

2) IWRATD DIAAIr U AlMUDI Yisedl IR IUYP fameu Bl fSosl]



‘Joo] Hfedo]
doo] HId fergol Hfedo] clobIer

PRICT A GZFoNDI gl sfdrere: risd ’

PRICH A GZoNDI Huql sfdeie? BRIE- il RRIUMIR s SIS @& FSIuD] 8?

[Question ID = 5062][Question Description = S2_qSNz_PG_NEP_Q97]
1. fgaefRiedt arun [Option ID = 20245]

2. weeuz Rl Rrwer [Option ID = 20246]

3. gogl® iR sref [Option ID = 20247]

4. sngforamgferat 3erfforar [Option ID = 20248]

Correct Answer :-
o fuafaRielt emum [Option ID = 20245]

3) Swdw wfadior ud: AMATDT Yeolsed] IR IWIP fadcu ol o8y
‘Joo] Hfedol

ool HId fergol Hfedo] coIbIer

PRICT A GZFoNDI gl sfdrere: Rmsd ’

DIAAIIET Ursol ‘PRI A8’ o Mol @A Agdd sRd! 8?[Question ID = 5063][Question Description = S2_qSNz_PG_NEP_Q98]

1. smrees Pfdren 36 3ewft & [Option ID = 20249]

2. 968 ARAAI PR ges ® [Option ID = 20250]
3. #esd! sif¥dca wfden 3@t & [Option ID = 20251]
4. ofien 2 sesd ygitre! srRer @ [Option ID = 20252]

Correct Answer :-
® ey oofdtenr 3RB Jepft @ [Option ID = 20249]

4) Sutd Diadior uc: AMTDI Yolaadl IR IUIP fddcy Blolk $o1e]
‘goo] sifcado]

oo I fe1gol Hicapo] coImbIeT

DI AT G3oNdD! o)l oyfrere? firisd ’

ggond! guql sIfdrere: RBrasd -dol ydle gop?[Question ID = 5064][Question Description = S2_qSNz_PG_NEP_Q99]
. s [Option ID = 20253]

. OfeeiRip fdrar [Option ID = 20254]

. amyfers Susur B [Option ID = 20255]

. 9iifers frario! wramreot [Option ID = 20256]

A WN -

Correct Answer :-
e os1s [Option ID = 20253]

5) SuRfes Dfidier U3z MRITDT YroTasd! 3T U RAwed SR Raghy
‘Soqf sfcwgy
Foo] I fergot sfcapoy gemmbIer

pfdiorm! el mera @ a1?[Question ID = 5065][Question Description = S2_qSNz_PG_NEP_Q100]
9lferes RIPRIIA #roda! Actoll RevBi st & [Option ID = 20257]

sfiferes P11 91w ufor aessa! ympfer 38t & [Option ID = 20258]

. 968 911 frgal 2 gemwlerd agen & [Option ID = 20259]

. 3ucpur fomtur 3 Sfiaer silemsept eftee 2w sw & [Option ID = 20260]

AW N -

Correct Answer :-
o iifered fIpRIIS sead®! Adon famRia swat & [Option ID = 20257]





